Current problems with embedding

April 15, 2020



//Module: 0=00 (mod0O,hotZone),
// 1=01 (mod0,bigZone),
// 2=10 (modl,hotZone),
// 3=11 (modl,bigZone)

Serial Ch_1lo Ch_hi GEM_id Station Module
0x76D08B9 512 639 110 0 1
0x76D08B9 896 1023 100 1 3
0x76D08BY 640 767 50 2
0x76D08B9 768 895 51 2 1
0x76D08BY 1920 2047 60 3 1
0x76D08B9 1792 1919 61 3
0x76D08BY 1024 1151 80 4 3
0x76D08B9 1152 1279 81 4 1
0x76D08BY 1280 1407 90 5 1
0x76D08B9 1408 1535 91 5

] 2



Main idea:

o To test different

<strip-channel >
mappings trying
to get a correct
one ...

Each choice leads to
a certain
<strip-channel >
mapping (Left,
Right) to be used
when doing
embedding

A reasonable
difference is
expected to be seen
for X’-strips (Left:
1080 strips, Right:
1130 strips)

// Choosing left or right part to be got from GemId
// depending on order ...

// Testing four different choices to get a corrected one .

// Choice 1
if (fChoicel) {
if (order == LeftToRightReading)
LeftOrRight = (gemId % 10 == 0) ? "Left" : "Right";
else
LeftOrRight = (gemId] % 10 == 0) ? "Right" : "Left";
}
// Choice 2
else if (fChoice2) {
if (order == RightToLeftReading)
LeftOrRight = (gemId % 10 == 0) 7 "Left" : "Right";
else
LeftOrRight = (gemId % 10 == 0) 7 "Right" : "Left";
}

// Choice 3 (default)
else if (fChoice3)

LeftOrRight = (gemId % 10 == 0) 7 "Left" : "Right";
// Choice 4

else if (fChoice4)
LeftOrRight = (gemId % 10 == 0) 7 "Right" : "Left";



Default mapping (choice 3), Stats 0,

Events with

lbedded digits:

3, 5 - LeftToRight

info: Stat# 0 Mod# 0

4000 ——"TaerTr o —
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o015~
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6000) 012
5000) o
4000 0.08
3000) 0.0
2000) 004
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h embedded digits: i info: Stat 5 Mog 0
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Default mapping (choice 3), Stats 1, 2, 4 - RightToLeft

Events

lbedded digits:

tat# 1 Mod# 0

0

digits:
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tat# 2 Mod# 0
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Events with
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b embedded digirs: Stat# 4 Mog# 0
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info; Stat# 1 Mod# 0

Info; Stat# 1 Modi 1
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Seen approximately the
same situation for the rest
alternative choices...



Default mapping (choice 1), Stats 0, 3, 5 - Left ToRight

dded digits:

h

g

I

0

digits:

tat# 3 Mod# 0

™

700
8000, Events with

w0
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info: Stat# 0 Mod# 0
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info: Stat# 0 Mod# 1

info: Stat# 3 Mod# 0

00 0 T
info: Stat# 3 Mod# 1
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Info; Stat# 5 Mod# 0
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Info; Stat# 5 Mod# 1

200 200 500 500
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Default mapping (choice 1), Stats 1, 2, 4 - RightToLeft

- Events with embedded digis: Stat# 1 Mod# 0 info: Stat# 1 Mot 0
1600|
1400)
1200
1000)
#
200)
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Events wih Stat# 1 Mod# 1 info; Stat# 1 Mod#é 1
3000~ gg§
2500~ 0,06
2000F- 0.5
1500E- 004
1000F- 003
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digis: Stat# 2 Mog# 0 info; Stat# 2 Mod# 0
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i embedded digits Statt 4 Mog# 0 St 4 Mog# 0
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Events with Staté 4 Mogit 1 n info; Stat# 4 Mod# 1
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Default mapping (choice 2), Stats 0,

Events with

lbedded digits:

3, 5 - LeftToRight

info: Stat# 0 Mod# 0

4000 =TT — o —
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0,02~
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0,03
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digits: Statt 3 Mod# 0 info: Stat 3 Mog# 0
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6000) 01E-
5000) .
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2000) " - L 4
1000) g " Y 0.02E- N
700 0 B0 TO0 Too pe 700 0 B0 pu
Events with 1 1 info: Stat 3 Mod# 1
7000) 014
6000) 0.12)
5000) 0
2000) 0.0
3000) 0.0
2000) 004
1000) 0.02
00 700 500 500 1000 T200 % 700 400 500 500 000
h embedded digits: i info: Stat 5 Mog 0
2500 T
0,05~
2000~ o0l
1500~ 0.03E- &
1000E- 0.02f-
500 0.01E=.
00 w00 50 £ T000 T200 oy w00 0 0 T
Events with Mog#t 1 info: Stat# 5 Mog# 1
3000| — 0.8 1
2500) 007
200) 869
1500) 004
1000 393
500 {7 004
% 700 %00 500 500 1600 200 % 200 700 50 50 1000




Default mapping (choice 2), Stats 1, 2, 4 - RightToLeft

ih embecded digls; Statt 1 Mo 0 it St 1 ot 0
o0 Events diits: St n o
1800
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1399
}200
i
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i
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e B etreontinn e
o 200 A 600 800 0 1200 200 400 600 800 00

10



Default mapping (choice 4), Stats 0, 3, 5 - Left ToRight

ded digis: . info: Stat 0 Mot 0
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soof- | ped 000sE- 1 N
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1500) 2%
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digis: Staté 3 Mod# 0 o inf: Stat 3 Mot
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0 Ly ey oo Tooo 700 oy ey b
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i embecided g " info: Stat 5 Mottt 0
2000| —
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4% 001E-
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Events with 5 Modi 1 info: a5 Mod# 1
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Default mapping (choice 4), Stats 1, 2, 4 - RightToLeft

a Events with embedded digits: Stat# 1 Mod# 0 Info: Stat 1 Mog 0
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#
200
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Events with Statt 1 Mod# 1 info; Stat# 1 Mog# 1
a000f- [
2500~ 0.0
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digits: Stat# 2 Mod# 0 info: Stat 2 Mog# 0
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1000~ 0.02F-
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h emhedded digits: Stat# 4 Mod# 0 info: Stat 4 Mog 0
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